£HH I

ot £ % 0TI /Rvo7vIUVT 2503 EZEL LN %8
JIS B2401 1B*/JIS B2407

Al B | C|IDIJE|F| G| H]| I | K| L |[M/| o mr|6r)m|Ee)mEn)e|@e)s(o)-w(Ae|(Be = = | ¥ o p | ¢/ F| (k)

MIV611-3-20GL,GR—%C [156.5] 90 [32.5| 40 | 30 | 57 :A\_MVS 915 66 | 74 | 31 79 9 [M10X105| P24 | P24 |P12.5|P12.5| G30 |P12.5|P12.5| SSA20 | M10X35 B.ow..wm u@ﬂ%,R 10.5

MIV611—-3-25GL,GR—xC 176.5| 90 |42.5| 48 | 35 | 67 Amwmtom.m 67 | 845(355| 79 | 9 |[MI2X125| P24 | P30 |P12.5|P125| G35 |P12.5|P12.5| SSA25 | M12x45 | 270501 | SHPPY /1| 16

MIV611—-3—32GL,GR—xC [176.5| 90 |42.5| 56 | 40 | 75 Ah\_mmv:m.m 68 | 955 | 395 | 79 9 |M12X135| P24 | P30 |P12.5|P12.5| G40 |P12.5[P12.5| SSA32 | M12X45 S.om..mm u@ﬂ%,w« 19
MIVE11-3—-40GL,GCR-%C |222.5 110|67.5| 65 | 48 | 98

27.5 2706-01 | 3HP—PV
;\:m:ﬁ.m 84 | 123 | 48 79 9 |M16X175| P30 | P40 |P12.5|P18 | G50 |P12.5|P18 | SSA40 | M16X60 | 27°7-20 %m-& 38

140 _
N 7 TEHRBS
m m _u_.m'i_!lwno U passi oo %z SUSHIE REMAME
L 1 |7-2v7 | SCS13A | S45C
o 2 |k B SUS420J2 | SUS420J2
5 3 |Afus SUS303 | S45C
< m 4 [AVEW SUS304 | SUS304
1
L 5 [75vy SUS304 | S25C
0oQ _ _ 6 | b A2-70 | sCM435
s) (o) 620 12 | 72hR4¥b | SUS316 | SUS316
3 13 | ovoFsb | SUS304 | SUS304
15 | =y 7w A2-70 | A2-70
17 | 775 ) | k%@ P
18 | 775 | k%@ REE
R e
@B MIV6E11-3-%*%GL-SC
i, RE M H TS T
ME:S=2F U012
L C=k=il
L BE:GL=AEBFEMIT
GR=BBFEMI T
- ml:
SHITRERZHER 388
BeFAIAN:21MPa

! 2% NAME /% MODEL NO.

MIVET1-3-xxGLCGRY =SC, CC
BERENEERZHKES SERC DTS

A = R E | B & DRAWING NO.
ABEGLE#RLET GRESADOBFRHNESY &5 @%WWM wQ ng SCALE VTG
- N . YT U O




